
ion on a plane
maximum intensity

ial at the point, e%.".of shear stress in the nffiial atthe point. $q&". -* n @ (10 Marks)

member subjected to direct
(10 Marks)

and 100 N/mm2

Mohr's circle streses method.
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*M Module-3
Derive a relaqtffietween loads, shear force and bending moments with relevant sketch.

%l (10 Marks)
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b. A cantilever beam carries UDL and point loads ,, ,ffiqs(b). Find the reactions at

the fixed end and draw SFD and BMD. -tD"
es l-N

(10 Marks)

6 a. Draw SFD and BMD 
", 

,.dilh[r#[ beam with affintric point load. (10 Marks)

b. prove that maximum stea.tdhs in a rectangular be,amais equal to 1.5 times average shear

stress. \: 
- 

*4, (10 Marks)

S- Modure-4 
qi=

7 a. Derive Euler u.#\f,.quation rot 6ntq' e (10 Marks)

b. calculate 

Tfprefliction 
ora cantrffeamwith anuniformlv distributed ltorthr"r..l

8 a il::$,l equation .,,S;**],:::ffir."* *::.^:,,:::!&l#i

b. A solid shaft rotating at l000,aBfftransmits 50 ffi{ffiimum torquffi0o/o more than the

mean torque. Materi-al of lhe;iiaft has the allogfolffihear stress ofdG'lVtpa and modulus of
rigidity s0 cp;:'Ardr54twil-* ;h; rn ffiild not exceedffiin one meter length.

pitermine the diametffiihe shaft. 
^\}t _\ 

s (10 Marks)

iPo* .s

X'il],t shat rotating at 1OoO;fftransmits 50 kroW*,m torq

*;;rvllruL"'***M 
s

e a A bo,e*i',W.'3:'ffi*, :ffi-flXflfiffi Lffi'jlufl:*l;i: ;bli;il'f125 N/mm'
i 
l1 rumis{ffiffim;r,r;,;.,,#.ternar pressure or 2.5N/mm2

iil @6i.sib1e intensitgfr*fernal pressure lpet'the shell diameter is 1.6 m. (10 Marks)

b. Derlvdtame's equatio;r{l*iilck cylindersA (10 Nlarks)

a\:r@
t0 fifi.rilr. Euler's.&|il'g load for a qohwrn-when both ends are fixed. (10 Marks)

b. Determine tf.OiffiJit."ir.rr.f*fulored within an elastic bar subjected to an axial tensile

forceP. 
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(loMarks)
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